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----- Theorem 6.2.10 Laplace expansion (or cofactor expansion) b A R et N O L BT 50

----- We can compute the determinant of an n x n matrix A by Laplace expansion |© =« =« =« < =« . =
down any column or along any row.
Expansion down the jth column:

..... detA =) (—1)a;; det(Ajj).

i=1

Expansion along the i th row:

..... detA =73 (=) aj; det(A;)).
j=1

In Exercises 11 through 22, use the determinant to find

out for which values of the constant k the given matrix A ﬁ(\l.& N -‘ﬁ;) ) W L Ml YXS O L.
is invertible. )
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Find the determinants of the matrices A in Exercises 31
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Find the following:
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(Hint: think about doing row operations on the
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